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i 50cm 0.14 0.16 0.08 0.10 0.11 0.13
108 REM WEREEBRREYST |bB-REHZT 8H29H
m 0.16 0.18 0.08 0.10 0.12 0.14
50cm 0.18 0.18 0.10 0.12
109 REM BEBEBRREYST |[HELEREIST 8H28H [EEE] &L
m 0.17 0.18 0.11 0.12
50cm 0.13 0.13 0.09 0.09
110 FES BERERRESIST |AHLCARESIST 8H28H [EEE] &L
m 0.13 0.13 0.08 0.10
i 50cm 0.05 0.07 0.05 0.05
111 REM BERBRREHIST |[OEADLRESST 8H28H [EEE] &L
m 0.05 0.06 0.05 0.05
i 50cm 0.08 0.09 0.06 0.06 0.08 0.09
12 | {REMH WREBRREHIST |bHOREHST 8H28H
m 0.08 0.08 0.06 0.08 0.08 0.09
i 50cm 0.05 0.06 0.07 0.07 0.07 0.08
13 | fREMH WERERREYIST |FIELREVSD 8829H
m 0.06 0.06 0.07 0.06 0.07 0.08
i 50cm 0.07 0.10 0.07 0.10 0.11 0.11
114 | {REMH WREBRREYIST | hAHEELREHST 8829H
m 0.08 0.09 0.08 0.12 0.10 0.11
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RF N KEE Rt KA (RESTHRYD)
BERKE KR (RF A

AESE R R BB Sv/h)
No. | Tt 51 RS AT BE | s0om sueAn “H (0 - 4O F 1) %
o 5E | mom | 4m | mom | sm | wom
BEGE | HERE | PERE | PEeE | BEee | Baes
\ 50cm 0.09 0.12 0.09 0.09 0.09 0.10
115 | {REMH WERBRREHST |DEETREIST 8H28H
im 0.08 0.10 0.08 0.09 0.09 0.11
j \ 50cm 0.09 0.11 0.06 0.07 0.08 0.09
116 | {BEH Z Dt REREXEBEF/ N 8H29H
im 0.10 0.11 0.07 0.07 0.08 0.09
50cm 0.09 0.11 0.05 0.06 0.09 0.11
17 | FEH ZDfth FEROEDLYE 8829H
im 0.08 0.11 0.06 0.07 0.09 0.10
50cm 0.14 0.15 0.10 0.11
118 FES Z Dt FERTENDE 8H29H [BEESE] &L
im 0.13 0.15 0.10 0.12
. . 50cm 0.05 0.05 B A O EXBEAGRL =8, KB D HBIE
19 | BE™H Z Dt BEBBREETAH—ERNSRE 8H28H =50 k
= - im 005| 007 [ERES] ML
50cm 0.18 0.09 FEORMBRELH: [ILOSHhRESST
120 FES MEBERREYST |[ILEHhRESST 8H29H FBERICKY FTiRtth s
im 0.15 0.08 [EREZ] ®L
121 | fpraEm ZoH RS T (Y —C R K& | 8H28E 012 008 #iah
e a e o s
= - 7 = m 0.11 008 [ERES] mL
50cm 0.06 it R .
122 | {REM ZF0ith IrO—LIELEVE—EHY 8H29H Eith AOELBEAGEL =6, KRADAHEIE
im 0.07 [EREZ] ®mL
123 | fpaEm ZoH MRS T A —E RE—MTUBIE | 88298 | 008 006 A
BHET(F—EREF—HT
= im 008 006 [ERES] mL
50cm 0.19 0.08 0.15
124 | {REM ZDfth BEEHRIZCLAE 8H29H iR
im 0.18 0.08 0.15
50cm 0.16 0.14 0.10 0.11 [ B8] dtEi=e
im 0.15 0.13 0.11 0.12 [EES] ML
125 | AEG | RES BRIt [KEE-REMR = B e T e i S e
50cm 0.12 0.14
[ B8] mAl%E
im 0.13 0.15
50cm 0.11 0.11 0.08 0.08 0.12 0.14
126 | AEM | REH RELLA— | KEE-RERE 8H28H
im 0.11 0.11 0.08 0.09 0.12 0.13
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RERRE

SMARE=42 YV JRE (REMRIL
9A29

(EFpk29%8A17H~
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%ﬁ’tﬁ)

F10[@) B8

RF N KEE Rt KA (RESTHRYD)
BERKE KR (RF A

BAESE ZER S B A E (4 Sv/h)
No. | Tt 51 RS AT BE | s0om sueAn “H (0 - 4O F 1) %
o 5E | mom | 4m | mom | sm | wom
pren | saes | nzee | Baes | Bree | BEes
- 50cm 0.11 0.11 0.12 0.11
127 | ABEW ZDfth FETCKEE S —(ZEFED) 8H28H [EEE] &L
m 0.11 0.13 0.10 0.12
- : ; S0em 0.fo] 008 Fiib A O ERBIANGEL =8>, KRID AR
128 e ZDih HKBAFVAIE 8H28H - 010 009 [EEZ] ®L
50cm 0.08 0.10 = 3 AR A s 4
- s 3 1 [ = FOEMSHEBHELEE L =0, Fith A
129 | AEM MR EIRMRERESST 88248 - 008 o011 [EEZ] &L
- S P 50cm 0.10 0.11 0.08 0.09 0.10 013 g A [ %8 [ EREZ ] nEhilRYS
130 | AEW WEERIREYIST |MRRERRERESSD 88248 - 010 o1 0.09 0,09 o011 0.137*(95}1/,_}&@*7;5;%\@)&;;@
) 50cm 0.12 0.12 0.11 0.10 0.12 0.12 [smAD [ ZE IEEZ] LbLvbikyS
181 XEW BRERREIST |HEMRRREIST 8RA24R A Lyl
e - im 012 o012 o011 orof o1z oo (BEISA=T IR
~ B 50cm 0.26 0.27 0.08 0.08 0.13 0.14 [EAD [ 6 [ EREZ ] ks>
132 | AEM WERRIRESST |FIEKRRREREISD 88248 . =
"7 = im 0.25 0.25 0.08 0.09 0.14 0.15|(BIRAREEMEIE) LM
50cm 0.16 0.15 0.07 0.08
133 | AEM Z Dt A 88248 [EEE] &L
m 0.15 0.13 0.07 0.08
g g S 50 0.24 0.26 0.11 0.12 0.21 0.21
m 0.23 0.26 0.10 0.13 0.19 0.21
50cm 0.24 0.29 0.18 0.19
135 | AEW Z Dt s 8824H [EEE] &L
m 0.23 0.26 0.17 0.18
] ‘ 50cm 0.10 0.12 0.09 0.09
136 | AEW | HWEAFELEET |bhBkIST (REHRRARSE | 85248 [ERES] &\L
m 0.10 0.12 0.09 0.11
- gz e |LDVDEERYST (BEIZI=T 50cm 012) 0d2f O} 010}  012|  O12r sy Ar J0 %P9 I ERES ] EAMIRKRRE
137 | AEM BERRFELHE 88248 =
~8=) 1m 0.12 0.12 0.11 0.10 0.12 012|777 E#A
- sp e |BOEDRRYTT (BRLREME S0cm 010) odff 008 009)  010]  OT3rmspAr J0 %P9 I ERES ] MURMIRRIRE
138 | AEM BERRFELHE 88248 2
7EE) 1m 0.10 0.11 0.09 0.09 0.11 013|777 E#A
- e pt e |[PEERSST (RS REMES 50cm 0.26 0.27 0.08 0.08 0.13 014 g A [ %B8 1L ERES ] MAKE®RRE
139 | AEM BREFELHE 8A 248 =
£8) 1m 0.25 0.25 0.08 0.09 0.14 015|777 E#A
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EMSHIRE=2 YV THE ( %%‘?E* F10[@) B8
9A29

(EFpk29%8A17H~

RF N KEE Rt KA (RESTHRYD)
BERKE KR (RF A

AESE IR EFRPIEME(L Sv/h)
o EEZ
No. | Tt 51 RS AT BE | s0om sueAn “H (0 - 4O F 1) %
o 5E | mom | 4m | mom | sm | wom
Hase | Hxsr | naeR | PERR | BEGER | PERER
i ) . 50cm 0.18 0.21 0.14 0.15
140 e BERERFELHE |(BEAPERITT (RE/NER) 8HA28H [EEE] &L
m 0.17 0.21 0.15 0.15
i ) ) N 50cm 0.13 0.16 0.13 0.12
141 e BREFEILHE |[ERHERIST (REEDH/NER) | 8A28H [EEE] &L
m 0.14 0.15 0.12 0.11
— s = 50cm 0.10 0.11 0.08 0.10 0.11 0.11 s
3 m 0.10 0.10 0.08 0.10 0.11 01287772
i i ) 50cm 0.10 0.11 0.08 0.10 0.11 0.11|%8x5 ~ )
143 AEH WERREYST |ABNIINREKREISD 88248 [Euth AD Il ZBE I EEEF ] Jueihbiik
m 0.10 0.10 0.08 0.10 0.11 012|557 (RENI/IMEER) L3
50cm 0.06 0.07 0.05 0.08 0.07 0.08
144 STHET REfE-REVS— |RIFETIRESE 8H23H [EuhAD ] CEYFE2REISTEEA
m 0.06 0.06 0.05 0.08 0.07 0.08
) 50cm 0.06 0.07 0.06 0.08 0.08 0.09
145 STHET WEREBREIST |CHYE2REHSD 8H23H [EuthAD ] RIFETRELELER
m 0.06 0.06 0.07 0.07 0.07 0.09
) ) 50cm 0.06 0.05 0.09
146 STHET BEBERREIST |[©O2HWFELIST 88228 iRt S
m 0.05 0.06 0.08
o X 50cm 0.08 0.09 0.11
147 STHET WEBEBRREYIST |[RALEFERLIST 8H22R iRt S
m 0.08 0.08 0.10
. . . 50cm 0.10 0.05 0.09
148 SETHT MR FASEFELDST 88228 iRt S
m 0.10 0.05 0.08
i ) 50cm 0.07 0.08 0.05 0.06 0.08 0.10
149 = R AT WERREYST |[ERFELIST 8H23H
m 0.06 0.08 0.06 0.06 0.08 0.09
i ) ) . 50cm 0.07 0.07 0.07 0.06
150 = RHET BBERFEILLRE |[BR-FHhAIKGEG(ER/NER) | 8A23H [EEE] &L
m 0.08 0.07 0.07 0.06
R 50cm 0.09 0.10 0.12 0.13 B A O EREAGEL -0 . KEOHIE
151 JIHRET Z Dt FELHAEDILE 8H23H = = b
im 0.10 0.11 0.12 0.13|l EES ] BES
i ) 50cm 0.09 0.10 0.07 0.08 0.10 0.11
152 | JIMRAT BERERRESIST |[hLvblvosd 8H23H
m 0.09 0.10 0.07 0.07 0.10 0.10
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RF N KEE Rt KA (RESTHRYD)
BERKE KR (RF A

BESE ERRERBIEME(1 Sv/h)
o EE%
No. | TETH 7 S 2 7 FE | soom #gAn = (k- 4RO FH{E) e
or
im 5@ o 5@ o 5@ o
HEHE | BERE | nEsR | BERE | BEsR | REeE
) ) 50cm 0.12 0.11 0.07 0.07 0.10 0.11
153 | JIMRAET MREFELHE |[MELOLVWEKENELARE) 8A23H
1m 0.13 0.12 0.08 0.07 0.10 0.11
- = e 50cm 0.13 0.15 0.09 0.08 0.10 0.11
154 IR ET R TELHE Esﬂf.@bb‘%&i([i‘bi@ﬁ%fh 8H23H
1m 0.13 0.16 0.08 0.08 0.11 0.11
) ) ~ ~ N 50cm 0.18 0.13 0.10 0.10 0.11 0.12
155 | JIMRAET BEREERFELHE |[BHEZOLVEKE EH/MNER) 8A23H
1m 0.16 0.14 0.10 0.10 0.11 0.12
) ) N 50cm 0.14 0.14 0.06 0.06 0.09 0.11
156 | JIMRAET BEREERFELHE |[EHEZOLVEKE (EH/MER) 8A23H
1m 0.13 0.13 0.07 0.06 0.10 0.11
) ) N 50cm 0.12 0.14 0.10 0.10 0.15 0.18
157 | JIMRET MREBEFELHE  |RIREOLVEKE BRI/ ER) 8A23H
1m 0.13 0.14 0.10 0.10 0.15 0.17
) ) N 50cm 0.07 0.06 0.10
158 | JIMRET MREFELHE |NIRLOLVEKE (JIHR/NMER) 8HA23H R
m 0.09 0.06 0.10
) ) 50cm 0.08 0.08 0.10 0.10 0.09 0.11
159 | KEF WMREBEREVST | BBFFELIST 8H24H
1m 0.07 0.09 0.11 0.11 0.09 0.10
T —— 50cm 0.08 0.09 0.06 0.09 0.07 0.07
100 | KER | gBEFoosz [EIERETELRBREHREMR 4q)p
RE T m 0.07 0.09 0.07 0.10 0.07 0.07
) ) ) ) 50cm 0.09 0.10 0.12 0.14
161 KEH BMRETELEE | RURFERTELEE(RLARE) | 8A24R [EEZE] £L
1m 0.10 0.10 0.12 0.14
50cm 0.11 0.09 748 Hh 5
162 | KEH ZDith HhT 8H28H - o011 008 [EEZ] mL

X TEORBERRILE. TH28F9A13BAS11A15RICEELLMESRBEBHRE-2V VAE(RERUEHRFEIR) IITEITHAERR. TOMICONTIE, HERICEHT 2.
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